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T8 O 5 B E B

£ 5 B’ K+ & BAf % = ] & %
1 3T & hcy 1 o = 1.00 244,050 244, 050
2 L R ) % E = 1.00 44,612 44,612
3 R #h iy = = 1. 00 81, 350 81, 350
4 Mt & T 4 ¥ o 3B & = 1. 00 3,425, 330 3, 425, 330
*k =8 i A % & 3,795, 342
5 # # & % = 1.00 265, 673 265, 673
6 i & X bt & = 1.00 72, 491 72, 491
*k =1 b3 iz = 338, 164
*  H i R fifl 4,133, 506
** % () th 5 i (3,795,342 * (35%/ (100%-35%)) 2,043, 791
*k fifl i R fifl 2,043, 791
i % [ i 6,177, 297
*k — fi% =i pid & % (6,177,297 * (35%/ (100%-35%)) 3,322,703
i % i % 9, 500, 000
dokkx H B %= M =] %8 (9,500,000 x 10. 0% ) 950, 000
ook " % 7 10, 450, 000




I A - B o
% Ll RO® B K S+ & Bify % = i = %0 i
il & icy 1 % 1XyY 1.00)=%
x (=S B’ B (44 %) A 1.50 62, 200 93, 300
B’ B ( A ) (44 %) A 1.50 55, 200 82, 800
B’ B ( B ) (44 %) A 1.50 45, 300 67,950
a E 244, 050
fE % & B N % FE 18y 1.00)=
ES (=S B’ B (RZ%) A 0.38 62, 200 23, 636
B’ B ( A ) (RZ%) A 0.38 55, 200 20, 976
a E 44,612
B i i = 18y 1.00f=£
x (=S B’ B (44 %) A 0.50 62, 200 31,100
B’ B ( A ) (44 %) A 0.50 55, 200 21, 600
B’ B ( B ) (44 %) A 0.50 45, 300 22, 650
a E 81, 350
M & T # % o :H &E 18y 1.00f=£
B’ B ( A ) (44 %) A 9.30 55, 200 513, 360
B’ B ( B ) (44 %) A 9.30 45, 300 421, 290
B’ B ( c ) (44 %) A 9.30 35, 600 331, 080
B’ B ( A ) (RZ%) A 5.20 55, 200 2817, 040
B’ B ( B ) (RZ%) A 0.00 45, 300 0
B’ B ( c ) (RZ%) A 52. 60 35, 600 1, 872, 560
a E 3,425, 330




o H OBER
i i B K S+ & Hfr % =B i # il

# # & % 1Y 1.00]=¢
# # & % =% 1.00 265. 673 265, 673

& i 265, 673
i x & k=t 1Y 1.00]=¢
id % & & =% 1.00 72, 491 72, 491

& i 72, 491




